Raven Multiplication (A)

Write the correct numbers to replace the ones the ravens ate.

X T =56 Ox =281 G, = 12 . xS =54
X 5=20 x4 =16 o xd=3 Tx _ —63
_ x3=18  x1=2 X9 =172 _ x7=14
4 x = , X6 —36 x8 =72 Sx =235
4 = _ x7 =28 6Gx__ — 30 2x__ — 10
. x1= _x5=15 x5 =5 x 8 =32
Ox__ =9 L %8 =2% _xX2=6 5x _ —40
1x =6 6x =42 5x =130 x4 =4
7Tx =735 8x =16 1x =2 3x =12
4x =12 8x_ —8 _ x2=10 X 6—18
Ox =354 2x =4 _ x8 =48 Tx =28
_  x1=1 x4 =8 x5 =25 _ x8—=—28
1x =9 6x =2 x =24 x4 =20
 xT7T =7 2x =6 S5x =15 8x —40
_ x4 =32 X9 =27 _ X 6=48 _x6=24
. X8 =64 X3 =3 Ix =24 _ x2=8
- x7=21 2x_ =12 _ x7 =49 _ x2=18
x99 =45 Tx__ =21 Tx_ —42 _xXx3=6
2x =18 S5x =35 X8 =56 2x =16
o x1=7 Ox —45 o x2=14 9 —36
Ox =63 X838 =38 8x =40 O x =
x4 =28 x 9 =281 5x  —10 3Ax =9
o x2=4 6x__ =30 O9x__ =18 2x__ =12
Sx =15 _ x1=3 x4 =4 _  x3=21
_ x 8 =48 o x1l=2 _ xT7 =56 _ x6=42
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